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PROFIT, LOSS AND DISCOUNT

1. Articles bought at 10 for Rs 8 are sold at 8

for Rs 10 Find the gain percent. Also find the
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https://doubtnut.app.link/MVcbJvrhfnb
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number of articles bought and sold in order to

gain Rs.144.

° Watch Video Solution

2. Raju goes from Agra to Delhi to buy an
article, which costs Rs 6,500 in Delhi. He sells
this article in Agra for Rs 8,000. Find his gain
or loss per cent. Consider that he spends Rs

700 on his transportation, food, etc.

° Watch Video Solution



https://dl.doubtnut.com/l/_7rufgpEIDcps
https://dl.doubtnut.com/l/_mQn9XXdR36mk
https://dl.doubtnut.com/l/_T5mUkwV6pnTp

3. A man sold his bicycle for Rs 810, losing one-
tenth of its cost price, Find :

the loss

° Watch Video Solution

4. A man sold his bicycle for Rs 810, losing one-
ninth of its selling price, Find :

the cost price of the bicycle

° Watch Video Solution



https://dl.doubtnut.com/l/_T5mUkwV6pnTp
https://dl.doubtnut.com/l/_k28ZumZGUN6D
https://dl.doubtnut.com/l/_pME9anZxYvFC

5. A man sold his bicycle for Rs 810, losing one-
ninth of its selling price, Find :

the loss as percent.

° Watch Video Solution

6. The selling price of a table is 55 times its

cost price. Find the loss or the profit as

percent.

° Watch Video Solution



https://dl.doubtnut.com/l/_pME9anZxYvFC
https://dl.doubtnut.com/l/_H0srwJ6pGF4h

7. The cost price of an article is 1 times its

selling price. Find the loss or the profit as

percent.

o Watch Video Solution

8. Bhanu bought a fountain pen for Rs 12. For

how much should she sell it to gain 15 % ?

° Watch Video Solution



https://dl.doubtnut.com/l/_HHjCzoynAJKS
https://dl.doubtnut.com/l/_7z6824cDdoCY

9. An article bought for Rs 450 is sold at a loss

of 20%. Find its selling price.

o Watch Video Solution

10. Ram sells an article for Solution Rs 360 at a

gain of 20%. Find its cost price.

o Watch Video Solution



https://dl.doubtnut.com/l/_txc8EwA3MtkV
https://dl.doubtnut.com/l/_1fxzWw00GmbX

11. By selling an article for Rs 382.50 a man

loses 15%. Find its cost price.

° Watch Video Solution

12. By selling an article for Rs 810, a man loses
10%. At what price should he sell it in order to

gain 8% ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ajmnDrUeFZaZ
https://dl.doubtnut.com/l/_alPuTquZdZdn

13. Peter sells two watches for Rs 198 each,
gaining 20% on one and losing 20% on the

other. Find his gain % or loss % on the whole.

o Watch Video Solution

14. A fruit-seller buys oranges at Rs 20 per
dozen and sells them at a profit of 20%. Find
the price paid by the customer for buying:

4 oranges

° Watch Video Solution



https://dl.doubtnut.com/l/_yuKOCvo4gWWP
https://dl.doubtnut.com/l/_gpvP5LBUr14n

15. A fruit-seller buys oranges at Rs 20 per
dozen and sells them at a profit of 20%. Find
the price paid by the customer for buying:

3 dozen oranges

o Watch Video Solution

16. A fruit- seller sells 8 banana for a rupee
gaining 25%. How banana did he buy for a

rupee.

o Watch Video Solution



https://dl.doubtnut.com/l/_gpvP5LBUr14n
https://dl.doubtnut.com/l/_wC0GhmKKm5wk
https://dl.doubtnut.com/l/_wTtCltTBvGPc

17. The cost price of 10 articles is equal to the
selling price of 9 articles. Find the profit

percent.

o Watch Video Solution

18. A man bought a piece of land for Rs 15,000.
He sold 3 of this land at a loss of 5 percent.

At what gain percent should he sell the


https://dl.doubtnut.com/l/_wTtCltTBvGPc
https://dl.doubtnut.com/l/_eQQ3B6xbkiq2
https://dl.doubtnut.com/l/_48sejD41tora

remaining land in order to gain 8% on the

whole ?

° Watch Video Solution

19. A shopkeeper sells an article at 15% gain.
Had he sold it forRs 18 more, he would have

gained 18%. Find the cost price of the article.

° Watch Video Solution



https://dl.doubtnut.com/l/_48sejD41tora
https://dl.doubtnut.com/l/_MYbwHcON8K5U

20. A tradesman marks his goods at 35 percent
above the cost price and then allows
purchasers a discount of 15 percent. What
profit percent does he save ?

A.14.75 %

B.13.95 %

C.24.75 %

D.25 %

Answer: A

‘ ° Wiak hh \AAA CAaliikianm
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21. A dealer allows his customers a discount of
25% and still gains 25%. If an article costs Rs
1,440 to the dealer, find :

its marked price

o Watch Video Solution

22. A dealer allows his customers a discount of

25% and still gains 25%. If an article costs Rs


https://dl.doubtnut.com/l/_hK5URlcVLnAv
https://dl.doubtnut.com/l/_Z7WedHlmvLAX
https://dl.doubtnut.com/l/_rkysMcZXywEP

1,440 to the dealer, find :

its marked price.

° Watch Video Solution

23. Find a single discount (as percent)
equivalent to successive discounts of 10% and

20%.

° Watch Video Solution



https://dl.doubtnut.com/l/_rkysMcZXywEP
https://dl.doubtnut.com/l/_8yFJqfAetJEE

24. An article is sold at two successive
discounts of 50% each. Find the single

equivatent discount as percent.

o Watch Video Solution

25. Rohit purchased a pair of shoes costing Rs
850. Calculate the total amount to be paid by

him, if the rate of Tax is 6%.

o Watch Video Solution



https://dl.doubtnut.com/l/_xebmPpTmNQyI
https://dl.doubtnut.com/l/_kchGNuOJNt9m
https://dl.doubtnut.com/l/_kqiLGnO167Nl

26. Mr. Gupta purchased an article for 702
including tax. If the rate of tax is 8%, find the

sale price of the article.

o Watch Video Solution

27. Geeta purchased a face-creasm for Rs 79.10
including tax. If the printed priace of the face-

cream is Rs 70, find the rate of tax.

o Watch Video Solution



https://dl.doubtnut.com/l/_kqiLGnO167Nl
https://dl.doubtnut.com/l/_m7J2okdaVa3w
https://dl.doubtnut.com/l/_cPe3HB5ZXD0K

28. Mrs. Sharma purchased confectionery
goods costing 165 on which the rate of tax is
6% and some tooth-paste, shaving-cream,
soap, etc., costing Rs 230 on which the rate of
Tax is 10%. If she gives a five-hundred rupee
note to the shopkeeper, what money will he

return to Mrs. Sharma?

o Watch Video Solution

29. Smith buys an article marked at Rs 2,200.

The rate of tax is 12%. He asks the shopkeeper


https://dl.doubtnut.com/l/_cPe3HB5ZXD0K
https://dl.doubtnut.com/l/_KgoKooBvmc5J

to reduce the price of the article to such an
extent that he does not have to pay anything
more than Rs 2.240 including tax. Calculate the
reduction, as percent, needed in the marked

price of the article.

° Watch Video Solution

30. The price of an article inclusive of 12% tax

is Rs 2,016. Find its marked price.

° Watch Video Solution



https://dl.doubtnut.com/l/_KgoKooBvmc5J
https://dl.doubtnut.com/l/_5LDlt1QLbWPh
https://dl.doubtnut.com/l/_7NnTyAm8a7gt

31. In an intra-state transaction, goods Rs
20,000, are bought. If GST rate is 28%, find

worth the amount of bill.

° Watch Video Solution

32.In an intra-state transaction, goods worth
Rs 20,000 are bought at 40% discount. If GST

rate is 28%, find the amount of bill.

° Watch Video Solution



https://dl.doubtnut.com/l/_7NnTyAm8a7gt
https://dl.doubtnut.com/l/_F22EQ3BTWd0N
https://dl.doubtnut.com/l/_RnTq4hDfRhft

33.In an inter-state transaction, goods worth
Rs 15,000 are bought at 20% discount. If the

rate of GST is 5%, find the amount of bill.

° Watch Video Solution

34. Some financial related services are
provided by a bank in Delhi. How much will
Manoj, a resident of Delhi, pay for the services
costing? Rs 8,000, Rs 6,500 and Rs 9,500, if the

rate of GST is 18%?

° Watch Video Solution



https://dl.doubtnut.com/l/_RnTq4hDfRhft
https://dl.doubtnut.com/l/_n9yUtqtw7UmR

35. A dealer in Mumbai sells two different
goods/services to Amar in the same city. One
of these goods/services is marked at Rs 4,000
(available at 40% discount) and the other is
marked at Rs 6,000 (available at 30%
discount). If the rate of GST is 12%, find how

much will Amar pay in all ?

° Watch Video Solution



https://dl.doubtnut.com/l/_n9yUtqtw7UmR
https://dl.doubtnut.com/l/_4znDWGuTwbrk

1. Megha bought 10 note-books for 40 and
sold them at Rs 4.75 per note-book. Find her

gain percent.

o Watch Video Solution

2. A fruit-seller buys oranges at 4 for Rs 3 and

sells them at 3 for Rs 4. Find his profit percent.

° Watch Video Solution



https://dl.doubtnut.com/l/_mdAuW1i1yDXM
https://dl.doubtnut.com/l/_cSXrKbBS9FQ8

3. A man buys a certain number of articles at
15 for Rs 112.50 and sells them at 12 for Rs 108.
Find :

his gain as percent,

o Watch Video Solution

4. A man buys a certain number of articles at
15 for Rs 112.50 and sells them at 12 for Rs 108.

Find :


https://dl.doubtnut.com/l/_ql4iJ8ilZzPE
https://dl.doubtnut.com/l/_SDs8g8CS8aXJ

the number of articles sold to make a profit of

Rs 75.

° Watch Video Solution

5. A boy buys an old bicycle for Rs 162 and
spends Rs 18 on its repair before selling the
bixycle for Rs 207. Find his gain or loss as

percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_SDs8g8CS8aXJ
https://dl.doubtnut.com/l/_RkfSYnnGaZTr

6. An article is bought from Jaipur for Rs 4,800
and is sold in Delhi for Rs 5,820. If Rs 1,200 is
spent on its transportations, etc., find the loss

or the gain as percent.

° Watch Video Solution

7. Mohit sold a T.V. for Rs 3,600, gaining one
sixth of its selling price. Find :

the gain.

° Watch Video Solution



https://dl.doubtnut.com/l/_mkYP8KyyeuXc
https://dl.doubtnut.com/l/_nco9lgp5cRRR

8. Mohit sold a T.V. for Rs 3,600, gaining one
sixth of its selling price. Find :

the cost price of the T.V.

° Watch Video Solution

9. Mohit sold a T.V. for Rs 3,600, gaining one
sixth of its selling price. Find :

the gain percent.

° Watch Video Solution



https://dl.doubtnut.com/l/_nco9lgp5cRRR
https://dl.doubtnut.com/l/_ctCglObvLJ4H
https://dl.doubtnut.com/l/_I2R93XvJi0iT

10. By selling a certain number of goods for Rs
5,500, a shopkeeper loses equal to onetenth of
their selling price. Find :

the loss incured

o Watch Video Solution

11. By selling a certain number of goods for Rs
5,500, a shopkeeper loses equal to onetenth of
their selling price. Find :

the cost price of the goods

| & I


https://dl.doubtnut.com/l/_ok2sQNvzaxK1
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| ¥ Watch Video Solution |

12. By selling a certain number of goods for Rs
5,500, a shopkeeper loses equal to onetenth of
their selling price. Find :

the loss as percent.

o Watch Video Solution

: : .4
13. The selling price of a sofa-set is 5 times of
its cost price. Find the gain or the loss as

percent.


https://dl.doubtnut.com/l/_DhNpKMvY2SQZ
https://dl.doubtnut.com/l/_KVQ7th44b1Ei
https://dl.doubtnut.com/l/_4whtGDNOZJLN

° Watch Video Solution

14. The cost price of an article is = times of its

selling price. Find the loss or the gain as

percent

° Watch Video Solution

15. A shopkeeper sells his goods at 80% of

their cost price. Find his percent gain or loses?

o Watch Video Solution



https://dl.doubtnut.com/l/_4whtGDNOZJLN
https://dl.doubtnut.com/l/_AMv9Q4M3YZim
https://dl.doubtnut.com/l/_cgWPEiA7rlP0

16. The cost price of an article is 90% of its
selling price. What is the profit or the loss as

percent?

o Watch Video Solution

17. The cost price of an article is 30 percent
less than its selling price. Find, the profit or

the loss as percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_cgWPEiA7rlP0
https://dl.doubtnut.com/l/_gYyiBzRslIfp
https://dl.doubtnut.com/l/_bXYQSLtJQgrO

18. A shopkeeper bought 300 eggs at 80 paisa
each. 30 eggs were broken in transit and then
he sold the remaining eggs at one rupee each.

Find, his gain or loss as percent.

° Watch Video Solution

19. A man sold his bicycle for Rs 405 losing
one-tenth of its cost price. Find :

its cost price,

° Watch Video Solution



https://dl.doubtnut.com/l/_ruIH3SuUgT1r
https://dl.doubtnut.com/l/_MFw7NDzl5jnk

20. A man sold his bicycle for Rs 405 losing
one-tenth of its cost price. Find :

the loss percent.

° Watch Video Solution

21. A man sold a radio set for Rs 250 and
gained one- ninth of its cost price Find:

its cost price

° Watch Video Solution



https://dl.doubtnut.com/l/_MFw7NDzl5jnk
https://dl.doubtnut.com/l/_udsuc7sXh9BC
https://dl.doubtnut.com/l/_8V8RdekD9sgU

22. A man sold a radio-set for Rs 250 and
gained one-ninth of its cost price. Find :

the profit percent.

o Watch Video Solution

1. Find the selling price, if :

C.P. = Rs 950 and profit = 8%

o Watch Video Solution



https://dl.doubtnut.com/l/_6djU0uOZakFx
https://dl.doubtnut.com/l/_IDcCO42IlDHF

2.Find the selling price, if :

C.P.=Rs 1,300 and loss =13%

° Watch Video Solution

3. Find the cost price, if :

S.P.=Rs 1,680 and profit = 12%

o Watch Video Solution



https://dl.doubtnut.com/l/_IDcCO42IlDHF
https://dl.doubtnut.com/l/_aUE8XobOvAJV
https://dl.doubtnut.com/l/_5Kzhm1nRruY5

4. Find the cost price, if :

S.P.=Rs 1,128 and loss = 6%

o Watch Video Solution

5. By selling an article for Rs 900, a man gains

20%. Find his cost price and the gain.

o Watch Video Solution



https://dl.doubtnut.com/l/_C4Iv98zJtzUg
https://dl.doubtnut.com/l/_8AZCs2jpdOWG

6. By selling an article for Rs 704, a person

loses 12%. Find his cost price and the loss.

o Watch Video Solution

7.Find the selling price, if :
C.P. = Rs 352, overheads = 28 and profit

=20% .

o Watch Video Solution



https://dl.doubtnut.com/l/_Ibc89JscnaA8
https://dl.doubtnut.com/l/_BzYhiVStTTLJ

8. Find the selling price, if :
C.P. = 576, overheads = Rs 44 and loss

=16 % .

o Watch Video Solution

9. If John sells his bicycle for Rs 637, he will
suffer a loss of 9%. For how much should it be

sold, if he desires a profit of 5%?

o Watch Video Solution



https://dl.doubtnut.com/l/_mLsKcKOIq644
https://dl.doubtnut.com/l/_AtZyhGCKpSqn
https://dl.doubtnut.com/l/_x1uHQrk7aa8Q

10. A man sells a radio-set for Rs 605 and gains
10%. At what price should he sell another

radio of the same kind, in order to gain 16% ?

o Watch Video Solution

1. By selling a sofa-set for Rs 2,500, the
shopkeeper loses 20%. Find his loss percent or
profit percent, if he sells the same sofa-set for

Rs 3,150.

o Watch Video Solution



https://dl.doubtnut.com/l/_x1uHQrk7aa8Q
https://dl.doubtnut.com/l/_iCtdMf5yrndG

12. Mr. Sinha sold two tape-recorders for Rs
990 each, gaining 10% on one and losing 10%
on the other. Find his total loss or gain, as

percent, on the whole transaction.

o Watch Video Solution

13. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

C.P. of the tape-recorder.

| & I
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| ¥ Watch Video Solution |

14. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

the C.P. of the C.D. player.

o Watch Video Solution

15. A tape-recorder is sold for 2,760 at a gain of

15% and a C.D. player is sold for Rs 3,240 at a


https://dl.doubtnut.com/l/_5oD06ipjEnu9
https://dl.doubtnut.com/l/_uDV9KX86hdFG
https://dl.doubtnut.com/l/_XKnlPDDItwjI

loss of 10%. Find :

the total C.P. of both.

° Watch Video Solution

16. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

the total S.P. of both.

o Watch Video Solution



https://dl.doubtnut.com/l/_XKnlPDDItwjI
https://dl.doubtnut.com/l/_oGoN5hm9SwSd

17. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

the gain % or the loss% on the whole.

o Watch Video Solution

18. Rajesh sold his scooter to Rahim at 8% loss
and Rahim, in turn, sold the same scooter to

Prem at 5% gain. If Prem paid Rs 14,490 for the


https://dl.doubtnut.com/l/_DzGVr18b5kEM
https://dl.doubtnut.com/l/_n2USLWlTGQG9

scooter, find :

the S.P. and the C.P. of the scooter for Rahim.

° Watch Video Solution

19. Rajesh sold his scooter to Rahim at 8% loss
and Rahim, in turn, sold the same scooter to
Prem at 5% gain. If Prem paid Rs 14,490 for the
scooter, find :

the S.P. and the C.P. of the scooter for Rajesh.

° Watch Video Solution



https://dl.doubtnut.com/l/_n2USLWlTGQG9
https://dl.doubtnut.com/l/_dhzJOHg4x7iC
https://dl.doubtnut.com/l/_oYoJyuDG222F

20. John sold an article to Peter at 20% profit
and Peter sold it to Mohan at 5% loss. If
Mohan paid Rs 912 for the article, find how

much did John pay for it ?

o Watch Video Solution

1. A stationer buys pens at 5 for Rs 28 and sells

them at a profit of 25%. How much should a


https://dl.doubtnut.com/l/_oYoJyuDG222F
https://dl.doubtnut.com/l/_6NFBZT3kCx63

customer pay, if he buys

only one pen?

° Watch Video Solution

2. A stationer buys pens at 5 for Rs 28 and sells
them at a profit of 25%. How much should a
customer pay, if he buys

three pens?

o Watch Video Solution



https://dl.doubtnut.com/l/_6NFBZT3kCx63
https://dl.doubtnut.com/l/_j6OCLBnB3riG

3. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

C.P. of 4 oranges.

o Watch Video Solution

4. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

C.P. of one orange.

o Watch Video Solution



https://dl.doubtnut.com/l/_ush33ra9uYpv
https://dl.doubtnut.com/l/_dunk419wslek
https://dl.doubtnut.com/l/_bSZ1pd3ylysd

5. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

S.P. of one orange

o Watch Video Solution

6. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

profit made by selling one orange

o Watch Video Solution



https://dl.doubtnut.com/l/_bSZ1pd3ylysd
https://dl.doubtnut.com/l/_2OKr2E4pO3M2
https://dl.doubtnut.com/l/_oMunBtCKP0oG

7. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :
number of oranges need to be bought and

sold in order to gain Rs 24.

° Watch Video Solution

8. A man sells 12 articles for 80 gaining

1
33§ % . Find the number of articles bought

by the man for Rs 90.

° Watch Video Solution



https://dl.doubtnut.com/l/_oMunBtCKP0oG
https://dl.doubtnut.com/l/_lVNJB50YTH6L
https://dl.doubtnut.com/l/_V9YFu9js8RoW

9. The cost price of 20 articles is same as the
selling price of 16 articles. Find the gain

percent.

° Watch Video Solution

10. The selling price of 15 articles is equal to
the cost price of 12 articles. Find the gain or

loss as percent

° Watch Video Solution



https://dl.doubtnut.com/l/_V9YFu9js8RoW
https://dl.doubtnut.com/l/_rJV9vgXH3wBt
https://dl.doubtnut.com/l/_YL9z8oB0MRUe

11. By selling 8 pens, Shyam loses equal to the

cost price of 2 pens. Find his loss percent.

o Watch Video Solution

12. A shopkeeper bought rice worth Rs 4,500.
He sold one-third of it at 10% profit. If he
desires a profit of 12% on the whole, find :

the selling price of the rest of the rice.

° Watch Video Solution



https://dl.doubtnut.com/l/_YL9z8oB0MRUe
https://dl.doubtnut.com/l/_xMy70W5nSSc4

13. A shopkeeper bought rice worth Rs 4,500.
He sold one-third of it at 10% profit. If he
desires a profit of 12% on the whole, find :

the percentage profit on the rest of the rice.

o Watch Video Solution

14. Mohan bought a certain number of note-

1
books forRs 600. He sold 1 of them at 5

percent loss. At what price should he sell the


https://dl.doubtnut.com/l/_LBv7t6tyFMke
https://dl.doubtnut.com/l/_aOv6a5BDcpnU

remaining notebooks so as to gain 10% on the

whole ?

° Watch Video Solution

15. Raju sells a watch at 5% profit. Had he sold
it forRs 24 more, he would have gained 11%.

Find the cost price of the watch.

° Watch Video Solution



https://dl.doubtnut.com/l/_aOv6a5BDcpnU
https://dl.doubtnut.com/l/_MeupWRj4XwVk

16. A man sold a bicycle at 5% profit. If the cost
had been 30% less and the selling price Rs 63
less, he would have made a profit of 30%.

What was the cost price of the bicycle ?

o Watch Video Solution

17. Renu sold an article at a loss of 8 percent.
Had she bought it at 10% less and sold for Rs
36 more, she would have gained 20%. Find the

cost price of the article.

| & I


https://dl.doubtnut.com/l/_0sVo1yBxxGKp
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1. An article is marked for Rs 1,300 and is sold

forRs 1,144. Find the discount percent.

o Watch Video Solution

2. The marked price of a dinning table is Rs
23,600 and is available at a discount of 8%.

Find its selling price.


https://dl.doubtnut.com/l/_Ens5K26LNKdS
https://dl.doubtnut.com/l/_LHqWG3MLP5DM
https://dl.doubtnut.com/l/_KWs0j83AZdei

o Watch Video Solution

3. A wrist-watch is available at a discount of
9%. If the list-price of the watch is Rs 1,400.
Find the discount given and the selling price

of the watch.

o Watch Video Solution

4. A shopkeeper sells an article forRs 248.50

after allowing a discount of 10%. Find the list


https://dl.doubtnut.com/l/_KWs0j83AZdei
https://dl.doubtnut.com/l/_giFfq3phnPK4
https://dl.doubtnut.com/l/_KkN98xMccJ8H

price of the article.

o Watch Video Solution

5. A shopkeeper buys an article for Rs 450. He
marks it at 20% above the cost price. Find :

the marked price of the article.

o Watch Video Solution

6. A shopkeeper buys an article for Rs 450. He

marks it at 20% above the cost price. Find :


https://dl.doubtnut.com/l/_KkN98xMccJ8H
https://dl.doubtnut.com/l/_G539FudDYrTa
https://dl.doubtnut.com/l/_dEqRRMF7QELN

the selling price, if he sells the article at 10

percent discount.

° Watch Video Solution

7. A shopkeeper buys an article for Rs 450. He
marks it at 20% above the cost price. Find :
the percentage discount given by him, if he

sells the article forRs 496.80.

o Watch Video Solution



https://dl.doubtnut.com/l/_dEqRRMF7QELN
https://dl.doubtnut.com/l/_FNtENHUxB5xf

8. The list price of an article is Rs 800 and is
available at a discount of 15 percent. Find : (1)
the selling price of the article, (i) the cost
price of the article, if a profit of 13% % s

made on selling it.

o Watch Video Solution

9. An article is marked at Rs 2.250. By selling it

at a discount of 12%, the dealer makes a profit


https://dl.doubtnut.com/l/_8XvIFr5EON6q
https://dl.doubtnut.com/l/_Qly5b42oMp0h

of 10%. Find :

the selling price of the article.

° Watch Video Solution

10. An article is marked at Rs 2.250. By selling it
at a discount of 12%, the dealer makes a profit
of 10%. Find :

the cost price of the article for the dealer.

o Watch Video Solution



https://dl.doubtnut.com/l/_Qly5b42oMp0h
https://dl.doubtnut.com/l/_aX1PK90CyIa2

1. By selling an article at 20% discount, a
shopkeeper gains 25%. If the selling price of
the article is Rs 1,440, find :

the marked price of the article.

o Watch Video Solution

12. By selling an article at 20% discount, a
shopkeeper gains 25%. If the selling price of
the article is Rs 1,440, find :

the cost price of the article.

| & I


https://dl.doubtnut.com/l/_hn519C8sG5vH
https://dl.doubtnut.com/l/_Q2t6g5wWcEZT

| ¥ Watch Video Solution |

13. A shopkeeper marks his goods at 30
percent above the cost price and then gives a

discount of 10 percent. Find his gain percent.

o Watch Video Solution

14. A ready-made garments shop in Delhi
allows 20 percent discount on its garments

and still makes a profit of 20 percent. Find the


https://dl.doubtnut.com/l/_Q2t6g5wWcEZT
https://dl.doubtnut.com/l/_ouKNe6fBut2l
https://dl.doubtnut.com/l/_Xv0YxAAsg0iA

marked price of a dress which is bought by the

shopkeeper for Rs 400.

° Watch Video Solution

15. At 12% discount, the selling price of a pen
is Rs 13.20. Find its marked price. Also, find the
new selling price of the pen, if it is sold at 5%

discount.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xv0YxAAsg0iA
https://dl.doubtnut.com/l/_axHRxufidhSA

16. The cost price of an article is Rs 2,400 and
it is marked at 25% above the cost price. Find
the profit and the profit percent, if the article

is sold at 15% discount.

o Watch Video Solution

17. Thirty articles are bought at Rs 450 each. If
one-third of these articles be sold at 6% loss,

at what price must each of the remaining


https://dl.doubtnut.com/l/_gHXyGwj6zmId
https://dl.doubtnut.com/l/_bRVDkqw1LrJh

articles be sold in order to make a profit of

10% on the whole ?

° Watch Video Solution

18. The cost price of an article is 25% below
the marked price. If the article is available at
15% discount and its cost price is Rs 2,400,
find :

its marked price

° Watch Video Solution



https://dl.doubtnut.com/l/_bRVDkqw1LrJh
https://dl.doubtnut.com/l/_YCyM0k8W8D1B
https://dl.doubtnut.com/l/_Km8Pg630DYCT

19. The cost price of an article is 25% below
the marked price. If the article is available at
15% discount and its cost price is Rs 2,400,

find :

its selling price

° Watch Video Solution

20. The cost price of an article is 25% below
the marked price. If the article is available at

15% discount and its cost price is Rs 2,400,


https://dl.doubtnut.com/l/_Km8Pg630DYCT
https://dl.doubtnut.com/l/_LzeaTNqSSLwP

find :

the profit percent.

° Watch Video Solution

21. Find a single discount (as percent)

equivalent to following successive discounts:

20 % and 12 %

° Watch Video Solution



https://dl.doubtnut.com/l/_LzeaTNqSSLwP
https://dl.doubtnut.com/l/_LAXBCkUxV0K4

22. Find a single discount (as percent)

equivalent to following successive discounts:

10%,20% and 20 %

o Watch Video Solution

23. Find a single discount (as percent)

equivalent to following successive discounts:

20%,10% and 5%

o Watch Video Solution



https://dl.doubtnut.com/l/_VaP1bElOZIHr
https://dl.doubtnut.com/l/_JccDzQPT3Zf4
https://dl.doubtnut.com/l/_xFXp6psoeWJe

24. Find the single discount ( as percent)
equivalent to successive discounts of:

80% and 80%

o Watch Video Solution

25. Find the single discount (as percent)

equivalent to successive discounts of:

60 % and 60 %

o Watch Video Solution



https://dl.doubtnut.com/l/_xFXp6psoeWJe
https://dl.doubtnut.com/l/_ULxrfjEC9ctB
https://dl.doubtnut.com/l/_bVQD7bWMYDSr

26. Find the single discount (as percent)
equivalent to successive discounts of:

60 % and 80 %

o Watch Video Solution

1. Rajat purchases a wrist-watch costing Rs

540. The rate of tax is 8%. Find the total

amount paid by Rajat for the watch.

° Watch Video Solution



https://dl.doubtnut.com/l/_bVQD7bWMYDSr
https://dl.doubtnut.com/l/_IxOtd8VrABg4

2.Ramesh paid 345.60 as tax on a purchase of

Rs 3,840. Find the rate of tax.

o Watch Video Solution

3. The price of a washing machine, inclusive of
Tax, is Rs 13,530/-. If the tax is 10%, find its

basic (cost) price.

o Watch Video Solution



https://dl.doubtnut.com/l/_IxOtd8VrABg4
https://dl.doubtnut.com/l/_Kqs04plqS2Fh
https://dl.doubtnut.com/l/_3XBATHAQWTZQ
https://dl.doubtnut.com/l/_4Kkvk7kKzjfL

4. Sarita purchases biscuits costing Rs 158 on
which the rate of tax is 6%. She also purchases
some cosmetic goods costing Rs 354 on which
the rate of tax is 9%. Find the total amount to

be paid by Sarita.

o Watch Video Solution

5.The price of a T.V. set inclusive of tax of 9% is
Rs 13,407. Find its marked price. If tax is
increased to 13%, how much more does the

customer has to pay for the T.V. set ?


https://dl.doubtnut.com/l/_4Kkvk7kKzjfL
https://dl.doubtnut.com/l/_IcedyXLWJBgX

° Watch Video Solution

6. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or
less does a customer pay for the article, if the
tax on the article:

increases to 15%

° Watch Video Solution



https://dl.doubtnut.com/l/_IcedyXLWJBgX
https://dl.doubtnut.com/l/_1OBO7fCXRRQz

7. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or
less does a customer pay for the article, if the
tax on the article:

decreases to 6%

o Watch Video Solution

8. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or

less does a customer pay for the article, if the


https://dl.doubtnut.com/l/_B98gCLjFUWeE
https://dl.doubtnut.com/l/_v7ilKuXzKfys

tax on the article:

increases by 2%

° Watch Video Solution

9. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or
less does a customer pay for the article, if the
tax on the article:

decreases by 3%.

° Watch Video Solution



https://dl.doubtnut.com/l/_v7ilKuXzKfys
https://dl.doubtnut.com/l/_NTe4QhCGeUSU
https://dl.doubtnut.com/l/_pOT0ZtxVzTKg

10. A bicycle is available for Rs 32,864 including
tax. If the list price of the bicycle is Rs 31,600,
find :

the rate of Tax.

o Watch Video Solution

11. A bicycle is available for Rs 32,864 including
tax. If the list price of the bicycle is Rs 31,600,
find :

the price a customer will pay for the bicycle if

the tax is increased by 6%.


https://dl.doubtnut.com/l/_pOT0ZtxVzTKg
https://dl.doubtnut.com/l/_yeB7VbQeoRoJ

° Watch Video Solution

12. When the rate of Tax is decreased from 9%
to 6% for a coloured TV, Mrs Geeta will save
Rs 780 in buying this T.V. Find the list price of

the T.V.

o Watch Video Solution

13. A shopkeeper sells an article for Rs 21,384

including 10% tax. However, the actual rate of


https://dl.doubtnut.com/l/_yeB7VbQeoRoJ
https://dl.doubtnut.com/l/_7cZWz6ePQJTz
https://dl.doubtnut.com/l/_QeMHHlr1eci9

Tax is 8%. Find the extra profit made by the

dealer.

° Watch Video Solution

1. Some goods/services cost Rs 16,000 and rate

of GST on them is 12%. Find the amount of bill,
in case of:

intra-state transaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_QeMHHlr1eci9
https://dl.doubtnut.com/l/_XwSEuQ8l8eiH

2. Some goods/services cost Rs 16,000 and
rate of GST on them is 12%. Find the amount
of bill, in case of:

intra-state transaction.

o Watch Video Solution

3. John belongs to Delhi. He buys goods, worth
Rs 25,000 from a shop in Delhi. If the rate of
GST is 5%, find how much money in all, will

John pay for these goods ?


https://dl.doubtnut.com/l/_XwSEuQ8l8eiH
https://dl.doubtnut.com/l/_Azwdi7NRY3R8
https://dl.doubtnut.com/l/_9gERgHx1qH4r

° Watch Video Solution

4. Find the amount of bill for the following
inter state transaction of goods/services: Cost
of transaction= Rs 30,000, discount = 30% and

GST = 28%.

o Watch Video Solution

5. For both the following inter-state

transaction of services, find the total amount


https://dl.doubtnut.com/l/_9gERgHx1qH4r
https://dl.doubtnut.com/l/_VslRf9s6O47z
https://dl.doubtnut.com/l/_voaQrx3T9GOv

of bill.
Cost of services = Rs 5,000, discount -20% and

GST =12%

o Watch Video Solution

6. For both the following inter-state
transaction of services, find the total amount
of bill.

Cost of services = Rs 12,500, discount=40% and

GST =18%

o Watch Video Solution



https://dl.doubtnut.com/l/_voaQrx3T9GOv
https://dl.doubtnut.com/l/_JfXdJfws0nVM

7. A shopkeeper in Indore, sells 20 identical
articles for Rs 450 each. Find the amount of
bill if he gives 20% discount and then charges

GST =28%

o Watch Video Solution

8. A dealer in Bihar supplied goods to a dealer
in Mumbai. The dealer in Mumbai buys :
40 articles for Rs 800 each at 30% discount.

If the rate of GST on the whole is 12%, find how


https://dl.doubtnut.com/l/_JfXdJfws0nVM
https://dl.doubtnut.com/l/_XoUJZOMeH6C7
https://dl.doubtnut.com/l/_vw8zJDg6Agpr

much will the dealer at Mumbai pay to dealer

in Bihar.

° Watch Video Solution

9. A dealer in Bihar supplied goods to a dealer
in Mumbai. The dealer in Mumbai buys :

75 articles for Rs 1,000 each at 20% disocunt.
If the rate of GST on the whole is 12%, find how
much will the dealer at Mumbai pay to dealer

in Bihar.

° Watch Video Solution



https://dl.doubtnut.com/l/_vw8zJDg6Agpr
https://dl.doubtnut.com/l/_15TPiZ0k44Kw

1. Articles bought at 10 for Rs 8 are sold at 8
for Rs 10 Find the gain percent. Also find the
number of articles bought and sold in order to

gain Rs.144.

o Watch Video Solution

2. Raju goes from Agra to Delhi to buy an

article, which costs Rs 6,500 in Delhi. He sells


https://dl.doubtnut.com/l/_15TPiZ0k44Kw
https://dl.doubtnut.com/l/_q4FvZrq46iFQ
https://dl.doubtnut.com/l/_JZBBVaBuDwdY

this article in Agra forRa 8,000. Find his gain
or loss per cent. Consider that he spends Ra

700 on his transportation, food, etc.

o Watch Video Solution

3. A man sold his bicycle for Rs 810, losing one-
ninth of its selling price, Find :

the loss as percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_JZBBVaBuDwdY
https://dl.doubtnut.com/l/_QAvOfQmffU0o

4. A man sold his bicycle for Rs 810, losing one-
ninth of its selling price, Find :

the cost price of the bicycle

o Watch Video Solution

5. A man sold his bicycle for Rs 810, losing one-
ninth of its selling price, Find :

the cost price of the bicycle

o Watch Video Solution



https://dl.doubtnut.com/l/_5P6nxb99hfBq
https://dl.doubtnut.com/l/_Qx1pSIVMHyxz
https://dl.doubtnut.com/l/_pqcQbMHWBd03

6. The selling price of a table is %5 times its

cost price. Find the loss or the profit as

percent.

o Watch Video Solution

7. The cost price of an article is 7 times its

selling price. Find the loss or the profit as

percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_pqcQbMHWBd03
https://dl.doubtnut.com/l/_5WrjraGC9ARW
https://dl.doubtnut.com/l/_TmIn5nmq25ms

8.Bhanu bought a fountain pen for Rs 12. Fow

how much should she sell to gain 15%?

° Watch Video Solution

9. An article bought for Rs 450 is sold at a loss

of 20%. Find its selling price.

o Watch Video Solution

10. Ram sells an article for Solution Rs 360 at a

gain of 20%. Find its cost price.


https://dl.doubtnut.com/l/_TmIn5nmq25ms
https://dl.doubtnut.com/l/_MKaxXf5wn3zB
https://dl.doubtnut.com/l/_5fbqWZQ68v8L

° Watch Video Solution

1. By selling an article for Rs 382.50 a man

loses 15%. Find its cost price.

o Watch Video Solution

12. By selling an article for Rs 810, a man loses
10%. At what price should he sell it in order to

gain 8% ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5fbqWZQ68v8L
https://dl.doubtnut.com/l/_VDHAcAnYlm8G
https://dl.doubtnut.com/l/_tmGiqZGBRbjw

13. Peter sells two watches for Rs 198 each,
gaining 20% on one and losing 20% on the

other. Find his gain % or loss % on the whole.

° Watch Video Solution

14. A fruit-seller buys oranges at Rs 20 per
dozen and sells them at a profit of 20%. Find
the price paid by the customer for buying:

4 oranges

l ° Watch Video Solution


https://dl.doubtnut.com/l/_tmGiqZGBRbjw
https://dl.doubtnut.com/l/_ZALdj72tufKW
https://dl.doubtnut.com/l/_u0xCH3RkGayl

15. A fruit-seller buys oranges at Rs 20 per
dozen and sells them at a profit of 20%. Find
the price paid by the customer for buying:

3 dozen oranges

° Watch Video Solution

16. A fruit- seller sells 8 banana for a rupee
gaining 25%. How banana did he buy for a

rupee .



https://dl.doubtnut.com/l/_u0xCH3RkGayl
https://dl.doubtnut.com/l/_ktDLXuUoiuFp
https://dl.doubtnut.com/l/_cdODxfeqEnIt

Watch Video Solution

17. The cost price of 10 articles is equal to the
selling price of 9 articles. Find the profit

percent.

o Watch Video Solution

18. A man bought a piece of land for Rs 15,000.

He sold 3 of this land at a loss of 5 percent.

At what gain percent should he sell the


https://dl.doubtnut.com/l/_cdODxfeqEnIt
https://dl.doubtnut.com/l/_CN1uskF6DPcS
https://dl.doubtnut.com/l/_qLX455Aoab7F

remaining land in order to gain 8% on the

whole ?

° Watch Video Solution

19. A shopkeeper sells an article at 15% gain.
Had he sold it forRs 18 more, he would have

gained 18%. Find the cost price of the article.

° Watch Video Solution



https://dl.doubtnut.com/l/_qLX455Aoab7F
https://dl.doubtnut.com/l/_S1lcPHZvBwR0

20. A tradesman marks his goods at 35 percent
above the cost price and then allows
purchasers a discount of 15 percent. What

profit percent does he save ?

o Watch Video Solution

21. A dealer allows his customers a discount of
25% and still gains 25%. If an article costs Rs
1440 to the dealer Find:

its selling price

| & I


https://dl.doubtnut.com/l/_v9aLwjk7rATy
https://dl.doubtnut.com/l/_jyR3qMh7hj7J

| ¥ Watch Video Solution |

22. A dealer allows his customers a discount of
25% and still gains 25%. If an article costs Rs
1,440 to the dealer, find :

its marked price.

o Watch Video Solution

23. Find a single discount (as percent)

equivalent to successive discounts of 10% and

20%.


https://dl.doubtnut.com/l/_jyR3qMh7hj7J
https://dl.doubtnut.com/l/_qdDkrmfMq8Sd
https://dl.doubtnut.com/l/_tIhmzgMMgGTQ

° Watch Video Solution

24. An article is sold at two successive
discounts of 50% each. Find the single

equivatent discount as percent.

° Watch Video Solution

25. Rohit purchased a pair of shoes costing Rs
850. Calculate the total amount to be paid by

him, if the rate of Tax is 6%.

| |


https://dl.doubtnut.com/l/_tIhmzgMMgGTQ
https://dl.doubtnut.com/l/_VDizBXH68gT1
https://dl.doubtnut.com/l/_4IuLjP09e1AL

& Watch Video Solution I

26. Mr. Gupta purchased an article for 702
including tax. If the rate of tax is 8%, find the

sale price of the article.

° Watch Video Solution

27. Geeta purchased a face-creasm for Rs 79.10
including tax. If the printed priace of the face-

cream is Rs 70, find the rate of tax.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_4IuLjP09e1AL
https://dl.doubtnut.com/l/_aZcpZMeV80jv
https://dl.doubtnut.com/l/_rnsKAF5QdIlV

28. Mrs. Sharma purchased confectionery
goods costing 165 on which the rate of tax is
6% and some tooth-paste, shaving-cream,
soap, etc., costing Rs 230 on which the rate of
Tax is 10%. If she gives a five-hundred rupee
note to the shopkeeper, what money will he

return to Mrs. Sharma?

° Watch Video Solution



https://dl.doubtnut.com/l/_rnsKAF5QdIlV
https://dl.doubtnut.com/l/_0SsbCIkmsh4l

29. Smith buys an article marked at Rs 2,200.
The rate of tax is 12%. He asks the shopkeeper
to reduce the price of the article to such an
extent that he does not have to pay anything
more than Rs 2.240 including tax. Calculate the
reduction, as percent, needed in the marked

price of the article.

o Watch Video Solution



https://dl.doubtnut.com/l/_trD8iE3uIpRT

30. The price of an article inclusive of 12% tax
is Rs 2016. Find its marked price. If the tax is
reduced to 7% , how much less will the

customer pay for the article.

° Watch Video Solution

31. In an intra-state transaction, goods Rs
20,000, are bought. If GST rate is 28%, find

worth the amount of bill.

° Watch Video Solution



https://dl.doubtnut.com/l/_nr1LFmLZAtAu
https://dl.doubtnut.com/l/_NhBKA9t3yCb0

32.In an intra-state transaction, goods worth
Rs 20,000 are bought at 40% discount. If GST

rate is 28%, find the amount of bill.

° Watch Video Solution

33.In an inter-state transaction, goods worth
Rs 15,000 are bought at 20% discount. If the

rate of GST is 5%, find the amount of bill.

° Watch Video Solution



https://dl.doubtnut.com/l/_NhBKA9t3yCb0
https://dl.doubtnut.com/l/_Ve0Tho4uFn1f
https://dl.doubtnut.com/l/_6HMARZeKgtc5

34. Some financial related services are
provided by a bank in Delhi. How much will
Manoj, a resident of Delhi, pay for the services
costing? Rs 8,000, Rs 6,500 and Rs 9,500, if the

rate of GST is 18%?

o Watch Video Solution

35. A dealer in Mumbai sells two different
goods/services to Amar in the same city. One

of these goods/services is marked at Rs 4,000


https://dl.doubtnut.com/l/_rIEXd618hZi9
https://dl.doubtnut.com/l/_s0y4UXx1qhQW

(available at 40% discount) and the other is
marked at Rs 6,000 (available at 30%
discount). If the rate of GST is 12%, find how

much will Amar pay in all ?

° Watch Video Solution

1. Megha bought 10 note-books for 40 and
sold them at Rs 4.75 per note-book. Find her

gain percent.



https://dl.doubtnut.com/l/_s0y4UXx1qhQW
https://dl.doubtnut.com/l/_YOrPfjRwejL7

Watch Video Solution

2. A fruit-seller buys oranges at 4 for Rs 3 and

sells them at 3 for Rs 4. Find his profit percent.

o Watch Video Solution

3. A man buys a certain number of articles at
15 for Rs 112.50 and sells them at 12 for Rs 108.
Find :

his gain as percent,

| €8 l


https://dl.doubtnut.com/l/_YOrPfjRwejL7
https://dl.doubtnut.com/l/_XBVmQVny7YXM
https://dl.doubtnut.com/l/_0bXONYXaVjBU

L Watch Video Solution J

4. A man buys a certain number of articles at
15 for Rs 112.50 and sells them at 12 for Rs 108.
Find :

the number of articles sold to make a profit of

Rs 75.

o Watch Video Solution

5. A boy buys an old bicycle for Rs 162 and

spends Rs 18 on its repair before selling the


https://dl.doubtnut.com/l/_0bXONYXaVjBU
https://dl.doubtnut.com/l/_TpbwTPx9AiEO
https://dl.doubtnut.com/l/_BJ3o4kgog1J5

bixycle for Rs 207. Find his gain or loss as

percent.

° Watch Video Solution

6. An article is bought from Jaipur for Rs 4,800
and is sold in Delhi for Rs 5,820. If Rs 1,200 is
spent on its transportations, etc,, find the loss

or the gain as percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_BJ3o4kgog1J5
https://dl.doubtnut.com/l/_9y6m4UBTXDGJ

7. Mohit sold a T.V. for Rs 3,600, gaining one
sixth of its selling price. Find :

the gain.

o Watch Video Solution

8. Mohit sold a TV. for Rs 3,600, gaining one
sixth of its selling price. Find :

the cost price of the T.V.

o Watch Video Solution



https://dl.doubtnut.com/l/_EMt6Irjx75RO
https://dl.doubtnut.com/l/_deG8a6EoGeHD
https://dl.doubtnut.com/l/_o3YtO9CfDhbc

9. Mohit sold a TV. for Rs 3,600, gaining one
sixth of its selling price. Find :

the gain percent.

o Watch Video Solution

10. By selling a certain number of goods for Rs
5,500, a shopkeeper loses equal to onetenth of
their selling price. Find :

the loss incured

° Watch Video Solution



https://dl.doubtnut.com/l/_o3YtO9CfDhbc
https://dl.doubtnut.com/l/_X5nROOZvsu0U

11. By selling a certain number of goods for Rs
5,500, a shopkeeper loses equal to onetenth of
their selling price. Find :

the cost price of the goods

o Watch Video Solution

12. By selling a certain number of goods for Rs
5,500, a shopkeeper loses equal to onetenth of
their selling price. Find :

the loss as percent.

| & I


https://dl.doubtnut.com/l/_9vl1p6cKG75G
https://dl.doubtnut.com/l/_QY2SVZS2u8oo

| ¥ Watch Video Solution |

13. The selling price of a sofa-set is 5 times of

its cost price. Find the gain or the loss as

percent.

o Watch Video Solution

14. The cost price of an article is 5 times of its

selling price. Find the loss or the gain as

percent

o Watch Video Solution



https://dl.doubtnut.com/l/_QY2SVZS2u8oo
https://dl.doubtnut.com/l/_ihujHrElF57s
https://dl.doubtnut.com/l/_igXt5hQqf83U

15. A shopkeeper sells his goods at 80% of

their cost price. Find his percent gain or loses?

° Watch Video Solution

16. The cost price of an article is 90% of its
selling price. What is the profit or the loss as

percent?

° Watch Video Solution



https://dl.doubtnut.com/l/_igXt5hQqf83U
https://dl.doubtnut.com/l/_RZ0ye9eM4fkg
https://dl.doubtnut.com/l/_r3HmOFXUSGw4
https://dl.doubtnut.com/l/_xoOyp9RC3dPd

17. The cost price of an article is 30 percent
less than its selling price. Find, the profit or

the loss as percent.

o Watch Video Solution

18. A shopkeeper bought 300 eggs at 80 paisa
each. 30 eggs were broken in transit and then
he sold the remaining eggs at one rupee each.

Find, his gain or loss as percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_xoOyp9RC3dPd
https://dl.doubtnut.com/l/_UlYUgjY8PwIt

19. A man sold his bicycle for Rs 405 losing
one-tenth of its cost price. Find :

its cost price,

o Watch Video Solution

20. A man sold his bicycle for Rs 405 losing
one-tenth of its cost price. Find :

the loss percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_OTBNUsVgyKHg
https://dl.doubtnut.com/l/_CZzJ7AAsGuat
https://dl.doubtnut.com/l/_qZHErW0veC7o

21. A man sold a radio set for Rs 250 and
gained one- ninth of its cost price Find:

its cost price

o Watch Video Solution

22. A man sold a radio-set for Rs 250 and
gained one-ninth of its cost price. Find :

the profit percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_qZHErW0veC7o
https://dl.doubtnut.com/l/_6HU7aHXbHiRB

1. Find the selling price, if :

C.P. = Rs 950 and profit = 8%

o Watch Video Solution

2.Find the selling price, if :

C.P.=Rs 1,300 and loss = 13%

° Watch Video Solution



https://dl.doubtnut.com/l/_CsSJXzTr1fD8
https://dl.doubtnut.com/l/_8Fy4cm3g9ykE
https://dl.doubtnut.com/l/_SdB0UOSsRq6e

3. Find the cost price, if :

S.P.=Rs 1,680 and profit = 12%

o Watch Video Solution

4. Find the cost price, if :

S.P.=Rs 1,128 and loss = 6%

o Watch Video Solution

5. By selling an article for Rs 900, a man gains

20%. Find his cost price and the gain.


https://dl.doubtnut.com/l/_SdB0UOSsRq6e
https://dl.doubtnut.com/l/_zUwCU1RV86hr
https://dl.doubtnut.com/l/_UULZ050Zdr78

° Watch Video Solution

6. By selling an article for Rs 704, a person

loses 12%. Find his cost price and the loss.

o Watch Video Solution

7.Find the selling price if:

C.P= Rs 350 overheads = Rs 28 and profit =20%

° Watch Video Solution



https://dl.doubtnut.com/l/_UULZ050Zdr78
https://dl.doubtnut.com/l/_gybliNvUDJDz
https://dl.doubtnut.com/l/_QrETM1rb5yOd
https://dl.doubtnut.com/l/_FkepWF17sWEd

8. Find the selling price, if :
C.P. = 576, overheads = Rs 44 and loss

=16 % .

° Watch Video Solution

9. If John sells his bicycle for Rs 637, he will
suffer a loss of 9%. For how much should it be

sold, if he desires a profit of 5%?

° Watch Video Solution



https://dl.doubtnut.com/l/_FkepWF17sWEd
https://dl.doubtnut.com/l/_6uCAYAxW1QeB
https://dl.doubtnut.com/l/_CH8ZxafTkUHQ

10. A man sells a radio-set for Rs 605 and gains
10%. At what price should he sell another

radio of the same kind, in order to gain 16% ?

° Watch Video Solution

1. By selling a sofa-set for Rs 2,500, the
shopkeeper loses 20%. Find his loss percent or
profit percent, if he sells the same sofa-set for

Rs 3,150.

° Watch Video Solution



https://dl.doubtnut.com/l/_CH8ZxafTkUHQ
https://dl.doubtnut.com/l/_C42FjyfeQAcO
https://dl.doubtnut.com/l/_OP0wJWrRMTQ0

12. Mr. Sinha sold two tape-recorders for Rs
990 each, gaining 10% on one and losing 10%
on the other. Find his total loss or gain, as

percent, on the whole transaction.

° Watch Video Solution

13. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

C.P. of the tape-recorder.

| €8 |


https://dl.doubtnut.com/l/_OP0wJWrRMTQ0
https://dl.doubtnut.com/l/_7Mz23JAPVCfq

| ¥ Watch Video Solution J

14. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

the C.P. of the C.D. player.

° Watch Video Solution

15. A tape-recorder is sold for 2,760 at a gain of

15% and a C.D. player is sold for Rs 3,240 at a


https://dl.doubtnut.com/l/_7Mz23JAPVCfq
https://dl.doubtnut.com/l/_nTYiaz3YMZgS
https://dl.doubtnut.com/l/_JhOIz9WFwQpD

loss of 10%. Find :

the total C.P. of both.

° Watch Video Solution

16. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

the total S.P. of both.

o Watch Video Solution



https://dl.doubtnut.com/l/_JhOIz9WFwQpD
https://dl.doubtnut.com/l/_WESsL2E2jhuV

17. A tape-recorder is sold for 2,760 at a gain of
15% and a C.D. player is sold for Rs 3,240 at a
loss of 10%. Find :

the gain % or the loss% on the whole.

o Watch Video Solution

18. Rajesh sold his scooter to Rahim at 8% loss
and Rahim, in turn, sold the same scooter to

Prem at 5% gain. If Prem paid Rs 14,490 for the


https://dl.doubtnut.com/l/_BAZCB2HOOKt6
https://dl.doubtnut.com/l/_g3pdDKGbDIW0

scooter, find :

the S.P. and the C.P. of the scooter for Rahim.

o Watch Video Solution

19. Rajesh sold his scooter to Rahim at 8% loss
and Rahim, in turn, sold the same scooter to
Prem at 5% gain. If Prem paid Rs 14,490 for the
scooter, find :

the S.P. and the C.P. of the scooter for Rajesh.

o Watch Video Solution



https://dl.doubtnut.com/l/_g3pdDKGbDIW0
https://dl.doubtnut.com/l/_4RxLL9AqXanZ
https://dl.doubtnut.com/l/_fpdCGhDnhh5L

20. John sold an article to Peter at 20% profit
and Peter sold it to Mohan at 5% loss. If
Mohan paid Rs 912 for the article, find how

much did John pay for it ?

o Watch Video Solution

1. A stationer buys pens at 5 for Rs 28 and sells

them at a profit of 25%. How much should a


https://dl.doubtnut.com/l/_fpdCGhDnhh5L
https://dl.doubtnut.com/l/_PjpEVC5pto0O

customer pay, if he buys

only one pen?

° Watch Video Solution

2. A stationer buys pens at 5 for Rs 28 and sells
them at a profit of 25%. How much should a
customer pay, if he buys

three pens?

o Watch Video Solution



https://dl.doubtnut.com/l/_PjpEVC5pto0O
https://dl.doubtnut.com/l/_fwTcqhjEGWcX

3. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

C.P. of one orange.

o Watch Video Solution

4. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

C.P. of one orange.

o Watch Video Solution



https://dl.doubtnut.com/l/_9OsVzrxGLS8x
https://dl.doubtnut.com/l/_QgoJxyp0kVaO
https://dl.doubtnut.com/l/_Dw8cw5FH5Q3L

5. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

S.P. of one orange

o Watch Video Solution

6. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :

profit made by selling one orange

o Watch Video Solution



https://dl.doubtnut.com/l/_Dw8cw5FH5Q3L
https://dl.doubtnut.com/l/_xydBEIxZeZQZ
https://dl.doubtnut.com/l/_H5ZetropUBAu

7. A fruit-seller sells 4 oranges for 3, gaining
50%. Find :
number of oranges need to be bought and

sold in order to gain Rs 24.

° Watch Video Solution

8. A man sells 12 articles for 80 gaining

1
335 % . Find the number of articles bought

by the man for Rs 90.

° Watch Video Solution



https://dl.doubtnut.com/l/_H5ZetropUBAu
https://dl.doubtnut.com/l/_moJo2OTtotTf
https://dl.doubtnut.com/l/_2Itj5Rntm4sP

9. The cost price of 20 articles is same as the
selling price of 16 articles. Find the gain

percent.

° Watch Video Solution

10. The selling price of 15 articles is equal to
the cost price of 12 articles. Find the gain or

loss as percent

° Watch Video Solution



https://dl.doubtnut.com/l/_2Itj5Rntm4sP
https://dl.doubtnut.com/l/_OtfkGtSsLikr
https://dl.doubtnut.com/l/_OZbFySe4gSTV

11. By selling 8 pens, Shyam loses equal to the

cost price of 2 pens. Find his loss percent.

o Watch Video Solution

12. A shopkeeper bought rice worth Rs 4,500.
He sold one-third of it at 10% profit. If he
desires a profit of 12% on the whole, find :

the selling price of the rest of the rice.

° Watch Video Solution



https://dl.doubtnut.com/l/_OZbFySe4gSTV
https://dl.doubtnut.com/l/_ibOGEf2qEVvh

13. A shopkeeper bought rice worth Rs 4,500.
He sold one-third of it at 10% profit. If he
desires a profit of 12% on the whole, find :

the percentage profit on the rest of the rice.

o Watch Video Solution

14. Mohan bought a certain number of note-

1
books forRs 600. He sold 1 of them at 5

percent loss. At what price should he sell the


https://dl.doubtnut.com/l/_aB0ZlyieLHHJ
https://dl.doubtnut.com/l/_XmTqYHPJFLlj

remaining notebooks so as to gain 10% on the

whole ?

° Watch Video Solution

15. Raju sells a watch at 5% profit. Had he sold
it forRs 24 more, he would have gained 11%.

Find the cost price of the watch.

° Watch Video Solution



https://dl.doubtnut.com/l/_XmTqYHPJFLlj
https://dl.doubtnut.com/l/_iFtaKaDspagr

16. A man sold a bicycle at 5% profit. If the cost
had been 30% less and the selling price Rs 63
less, he would have made a profit of 30%.

What was the cost price of the bicycle ?

o Watch Video Solution

17. Renu sold an article at a loss of 8 percent.
Had she bought it at 10% less and sold for Rs
36 more, she would have gained 20%. Find the

cost price of the article.

| & |


https://dl.doubtnut.com/l/_AKK4Y0QCDDAZ
https://dl.doubtnut.com/l/_kbuATOn5mh9F

| ¥ Watch Video Solution |

1. An article is marked for Rs 1,300 and is sold

forRs 1,144. Find the discount percent.

o Watch Video Solution

2. The marked price of a dinning table is Rs
23,600 and is available at a discount of 8%.

Find its selling price.


https://dl.doubtnut.com/l/_kbuATOn5mh9F
https://dl.doubtnut.com/l/_iILHPCSVjoUo
https://dl.doubtnut.com/l/_SI6GwKRpSS7F

o Watch Video Solution

3. A wrist-watch is available at a discount of
9%. If the list-price of the watch is Rs 1,400.
Find the discount given and the selling price

of the watch.

o Watch Video Solution

4. A shopkeeper sells an article forRs 248.50

after allowing a discount of 10%. Find the list


https://dl.doubtnut.com/l/_SI6GwKRpSS7F
https://dl.doubtnut.com/l/_V3BMvlfhIrWf
https://dl.doubtnut.com/l/_op7nj0r437Wy

price of the article.

o Watch Video Solution

5. A shopkeeper buys an article for Rs 450. He
marks it at 20% above the cost price. Find :

the marked price of the article.

o Watch Video Solution

6. A shopkeeper buys an article for Rs 450. He

marks it at 20% above the cost price. Find :


https://dl.doubtnut.com/l/_op7nj0r437Wy
https://dl.doubtnut.com/l/_tVpbRYMhInk5
https://dl.doubtnut.com/l/_F2BLL3J6JN9e

the selling price, if he sells the article at 10

percent discount.

° Watch Video Solution

7. A shopkeeper buys an article for Rs 450. He
marks it at 20% above the cost price. Find :
the percentage discount given by him, if he

sells the article forRs 496.80.

o Watch Video Solution



https://dl.doubtnut.com/l/_F2BLL3J6JN9e
https://dl.doubtnut.com/l/_ypEe1VkA4W4Q

8. The list price of an article is Rs 800 and is
available at a discount of 15 percent. Find:

the selling price of the article

o Watch Video Solution

9. The list price of an article is Rs 800 and is
available at a discount of 15 percent. Find : (1)
the selling price of the article, (i) the cost
price of the article, if a profit of 13% % s

made on selling it.

| & I


https://dl.doubtnut.com/l/_ZxEinHDQ6WP5
https://dl.doubtnut.com/l/_gAXjype4lsbE

| ¥ Watch Video Solution |

10. An article is marked at Rs 2.250. By selling it

at a discount of 12%, the dealer makes a profit
of 10%. Find :

the selling price of the article.

o Watch Video Solution

11. An article is marked at Rs 2.250. By selling it

at a discount of 12%, the dealer makes a profit


https://dl.doubtnut.com/l/_gAXjype4lsbE
https://dl.doubtnut.com/l/_93ob4iB1IDKF
https://dl.doubtnut.com/l/_Rnic8wVzKpth

of 10%. Find :

the cost price of the article for the dealer.

° Watch Video Solution

12. By selling an article at 20% discount, a
shopkeeper gains 25%. If the selling price of
the article is Rs 1,440, find :

the marked price of the article.

o Watch Video Solution



https://dl.doubtnut.com/l/_Rnic8wVzKpth
https://dl.doubtnut.com/l/_yLPedR5OBmua

13. By selling an article at 20% discount, a
shopkeeper gains 25%. If the selling price of
the article is Rs 1,440, find :

the cost price of the article.

° Watch Video Solution

14. A shopkeeper marks his goods at 30
percent above the cost price and then gives a

discount of 10 percent. Find his gain percent.

° Watch Video Solution



https://dl.doubtnut.com/l/_Iep9Izk57vCm
https://dl.doubtnut.com/l/_e2t43JHMM2ql

15. A ready-made garments shop in Delhi
allows 20 percent discount on its garments
and still makes a profit of 20 percent. Find the
marked price of a dress which is bought by the

shopkeeper for Rs 400.

o Watch Video Solution

16. At 12% discount, the selling price of a pen

is Rs 13.20. Find its marked price. Also, find the


https://dl.doubtnut.com/l/_e2t43JHMM2ql
https://dl.doubtnut.com/l/_PUE6hss3A6Uy
https://dl.doubtnut.com/l/_DDEVeUQmWhsF

new selling price of the pen, if it is sold at 5%

discount.

° Watch Video Solution

17. The cost price of an article is Rs 2,400 and
it is marked at 25% above the cost price. Find
the profit and the profit percent, if the article

is sold at 15% discount.

o Watch Video Solution



https://dl.doubtnut.com/l/_DDEVeUQmWhsF
https://dl.doubtnut.com/l/_9QMkWTayHUUu

18. Thirty articles are bought at Rs 450 each. If
one-third of these articles be sold at 6% loss,
at what price must each of the remaining
articles be sold in order to make a profit of

10% on the whole ?

o Watch Video Solution

19. The cost price of an article is 25% below
the marked price. If the article is available at

15% discount and its cost price is Rs 2,400,


https://dl.doubtnut.com/l/_l6m3LeOii8nF
https://dl.doubtnut.com/l/_ejibj60XNtA6

find :

its marked price

° Watch Video Solution

20. The cost price of an article is 25% below
the marked price. If the article is available at
15% discount and its cost price is Rs 2,400,

find :

its selling price

° Watch Video Solution



https://dl.doubtnut.com/l/_ejibj60XNtA6
https://dl.doubtnut.com/l/_9sdKzkitHmdw
https://dl.doubtnut.com/l/_okMR5ePyCUuO

21. The cost price of an article is 25% below
the marked price. If the article is available at
15% discount and its cost price is Rs 2,400,

find :

its selling price

° Watch Video Solution

22. Find a single discount (as percent)

equivalent to following successive discounts:

20% and 12 %

l ° Watch Video Solution


https://dl.doubtnut.com/l/_okMR5ePyCUuO
https://dl.doubtnut.com/l/_d1WZWb1tMY8T

23. Find a single discount (as percent)

equivalent to following successive discounts:

10%,20% and 20 %

° Watch Video Solution

24. Find a single discount (as percent)

equivalent to following successive discounts:

20% ,10% and 5%

° Watch Video Solution



https://dl.doubtnut.com/l/_d1WZWb1tMY8T
https://dl.doubtnut.com/l/_ltM3IzKbr0V8
https://dl.doubtnut.com/l/_w5fAANIN02Rv

25. Find the single discount ( as percent)
equivalent to successive discounts of:

80% and 80%

° Watch Video Solution

26. Find the single discount (as percent)
equivalent to successive discounts of:

60 % and 60 %

° Watch Video Solution



https://dl.doubtnut.com/l/_w5fAANIN02Rv
https://dl.doubtnut.com/l/_HWgBpmGa6ATP
https://dl.doubtnut.com/l/_JztFdxlkraeB

27. Find the single discount (as percent)

equivalent to successive discounts of:

60 % and 80 %

° Watch Video Solution

1. Rajat purchases a wrist-watch costing Rs

540. The rate of tax is 8%. Find the total

amount paid by Rajat for the watch.


https://dl.doubtnut.com/l/_JztFdxlkraeB
https://dl.doubtnut.com/l/_QjHJgFcatt48
https://dl.doubtnut.com/l/_y7PTwAjh6gVP

° Watch Video Solution

2.Ramesh paid 345.60 as tax on a purchase of

Rs 3,840. Find the rate of tax.

o Watch Video Solution

3. The price of a washing machine, inclusive of
Tax, is Rs 13,530/-. If the tax is 10%, find its

basic (cost) price.

o Watch Video Solution



https://dl.doubtnut.com/l/_y7PTwAjh6gVP
https://dl.doubtnut.com/l/_Txvh5GjqUYYV
https://dl.doubtnut.com/l/_Fuf3WtWuAXxo

4. Sarita purchases biscuits costing Rs 158 on
which the rate of tax is 6%. She also purchases
some cosmetic goods costing Rs 354 on which
the rate of tax is 9%. Find the total amount to

be paid by Sarita.

o Watch Video Solution

5.The price of a T.V. set inclusive of tax of 9% is

Rs 13,407. Find its marked price. If tax is


https://dl.doubtnut.com/l/_Fuf3WtWuAXxo
https://dl.doubtnut.com/l/_ptIXWAMWTYzV
https://dl.doubtnut.com/l/_Fw6RO2FejRk0

increased to 13%, how much more does the

customer has to pay for the T.V. set ?

° Watch Video Solution

6. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or
less does a customer pay for the article, if the
tax on the article:

increases to 15%

° Watch Video Solution



https://dl.doubtnut.com/l/_Fw6RO2FejRk0
https://dl.doubtnut.com/l/_2amj9fpLjRqg
https://dl.doubtnut.com/l/_pW5GuNo6XSKE

7. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or
less does a customer pay for the article, if the
tax on the article:

decreases to 6%

° Watch Video Solution

8. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or

less does a customer pay for the article, if the


https://dl.doubtnut.com/l/_pW5GuNo6XSKE
https://dl.doubtnut.com/l/_ZuIhEJnoPoF7

tax on the article:

increases by 2%

° Watch Video Solution

9. The price of an article is Rs 8,250 which
includes tax at 10%. Find how much more or
less does a customer pay for the article, if the
tax on the article:

decreases by 3%.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZuIhEJnoPoF7
https://dl.doubtnut.com/l/_JvcHiBxRyrUg
https://dl.doubtnut.com/l/_bxMMjahSgtFG

10. A bicycle is availabel for Rs 1664 including
tax If the list price of the bicycle is Rs 1660.
Find

the rate of tax

o Watch Video Solution

11. A bicycle is availabel for Rs 1664 including
tax If the list price of the bicycle is Rs 1600.
Find

the price a customer will pay for the bicycle if

the tax Is increased by 6%


https://dl.doubtnut.com/l/_bxMMjahSgtFG
https://dl.doubtnut.com/l/_rq7jbp7E5not

° Watch Video Solution

12. When the rate of Tax is decreased from 9%
to 6% for a coloured TV, Mrs Geeta will save
Rs 780 in buying this T.V. Find the list price of

the T.V.

o Watch Video Solution

13. A shopkeeper sells an article for Rs 21,384

including 10% tax. However, the actual rate of


https://dl.doubtnut.com/l/_rq7jbp7E5not
https://dl.doubtnut.com/l/_5di1DhtNIx85
https://dl.doubtnut.com/l/_wqLRyvgn9CQM

Tax is 8%. Find the extra profit made by the

dealer.

° Watch Video Solution

1. Some goods/services cost Rs 16,000 and rate

of GST on them is 12%. Find the amount of bill,
in case of:

intra-state transaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_wqLRyvgn9CQM
https://dl.doubtnut.com/l/_9zxULos9rg4p

2. Some goods/services cost Rs 16,000 and
rate of GST on them is 12%. Find the amount
of bill, in case of:

intra-state transaction.

o Watch Video Solution

3. John belongs to Delhi. He buys goods, worth
Rs 25,000 from a shop in Delhi. If the rate of
GST is 5%, find how much money in all, will

John pay for these goods ?


https://dl.doubtnut.com/l/_9zxULos9rg4p
https://dl.doubtnut.com/l/_5RqzMeib32tl
https://dl.doubtnut.com/l/_sP0zLq1zhASW

° Watch Video Solution

4. Find the amount of bill for the following
inter state transaction of goods/services: Cost
of transaction= Rs 30,000, discount = 30% and

GST = 28%.

o Watch Video Solution

5. For both the following inter-state

transaction of services, find the total amount


https://dl.doubtnut.com/l/_sP0zLq1zhASW
https://dl.doubtnut.com/l/_zdQh2l63llOc
https://dl.doubtnut.com/l/_ahDbyQmmgfxp

of bill.
Cost of services = Rs 5,000, discount -20% and

GST =12%

o Watch Video Solution

6. For both the following inter-state
transaction of services, find the total amount
of bill.

Cost of services= Rs 12500, discount =40% and

GST=18%.

o Watch Video Solution



https://dl.doubtnut.com/l/_ahDbyQmmgfxp
https://dl.doubtnut.com/l/_xxrx6X8MTiXp

7. A shopkeeper in Indore, sells 20 identical
articles for Rs 450 each. Find the amount of
bill if he gives 20% discount and then

charges GST =28 %

o Watch Video Solution

8. A dealer in Bihar supplied goods to a dealer
in Mumbai. The dealer in Mumbai buys :
(i) 40 articles for 800 each at 30% discount (ii)

75 articles for 1,000 each at 20% disocunt.


https://dl.doubtnut.com/l/_xxrx6X8MTiXp
https://dl.doubtnut.com/l/_btWMXtK6FE7I
https://dl.doubtnut.com/l/_CgRmxDsQHPH1

If the rate of GST on the whole is 12%, find how
much will the dealer at Mumbai pay to dealer

in Bihar.

o Watch Video Solution

9. A dealer in Bihar supplied goods to a dealer
in Mumbai. The dealer in Mumbai buys :

75 articles for Rs 1,000 each at 20% disocunt.
If the rate of GST on the whole is 12%, find how
much will the dealer at Mumbai pay to dealer

in Bihar.

| e |


https://dl.doubtnut.com/l/_CgRmxDsQHPH1
https://dl.doubtnut.com/l/_L5vX9ID02cMC

& Watch Video Solution



https://dl.doubtnut.com/l/_L5vX9ID02cMC

